HEAGR T = RARAER

A T Bl 237
5% — 2627 + 44x — 24 = 0 X+ —16x—112=0
X —3x> —28x+60=0 4> + 392 +57x— 140=0
6x° — 35x% +49x — 20 = 0 X —6x> —40x+ 192 = 0
3 2 _ 3 2 _
x +6x —19x—24=0 x +15x " +71x+105=0
X =2 —55x+56=10 X+ 97 +8—60=0
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503 — 26x2 +44x— 24 = ()
6

xX= -,

5

2,2

X —3x> —28x+60=0
x=-5,6,2

6x° — 35x2 +49x— 20 = 0
5

) 1)4
6

x:

46> —19x—24=0
x=3,-1,-8

X =2 —55x+56=10
x=1,8,—7

HIZh: A7

X+ 77 —16x—112=0
x=—7,—4.4

A + 39 +57x— 140 = 0
5

=, —7,—4
4

x:

X —6x> —40x+ 192 = 0
x=—6,8,4

X+ 152 +71x+105=0
x=-3,-7,-5

X+ 97 +8—60=0
x=2,-5—6
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